DU MA Philosophy

Topic:- PHIL MA
1) Which pair is correct about Kant’s epistemology of mental representation

Free 1 ATAfAS whafAfacg # 17 Fraiar s R & v 91 vt 9 & [Question ID = 5212]
God and Goodwill/Z7a% ¥ g[s7&%eT [Option ID = 20845]

Soul and Concept/#ITeAT 3T AT [Option ID = 20846]

Will and Sensibility /5T i &rzsferar [Option ID = 20847]

Intuition and Concept/sa=TT 3T F=4TZuIT [Option ID = 20848]

A WN =

2) Who said that “Reason, if there is such a thing, can serve as a court of appeal”?

frad wgrat i ", afe gfy St M aeg &, T 98 FATTT F1 afid F TR AT FT GHAT 2"?[Question ID = 5213]
. Ludwig Wlttgenstem/ﬁeﬁv farei=raT= [Option ID = 20849]

Hilary Putnam/f2a<t we=rmr [Option ID = 20850]

Immanuel Kant/z#7a &z [Option ID = 20851]

Thomas Nagel/=rta& < [Option ID = 20852]

AWN—\

3) "Against Method" is the book written by-

"FEE g qEAS fwas grar foaet v @2

[Question ID = 5214]
1. Plato/wtzar

[Option ID = 20853]
2. Pierre Duhem/fo=¥ o

[Option ID = 20854]
3. Paul Feyerabend/Te ®avTaE

[Option ID = 20855]
4. Paul Churchland/Tter ==d<

[Option ID = 20856]
4) That attributes can allow for a variety without entailing any plurality of substances is the position attributed to

o Frdt W wHTR B gITaT A1 agaar » faar fafrgar @ forg sagafy @ awar g a8 e Tra g2[Question ID = 5215]
1. Aquinas/Tfg=Ta [Option ID = 20857]

2. Descartes/T#Td [Option ID = 20858]

3. Spinoza/fEa=TsT [Option ID = 20859]

4. Berkeley/== [Option ID = 20860]

5) Things like individual mind or body are treated by Spinoza as

FIRETT 7T 7 A0 R 786 F1 FRUFVAT ETUO TH ITHTT ATAT FATAT §:[Question ID = 5216]
Infinite Nature/r<d S [Option ID = 20861]

Infinite Attributes/s=d T [Option ID = 20862]

Finite Modes/afifia wT= [Option ID = 20863]

Infinite Modes /&= e [Option ID = 20864]

A w N =

6) The principle governing the domination and subordination of monads is

AIAET (monad) # F= e T srefiwat &7 A frq w37 arar Rrgia £fra $Tar 8 .. [Question ID = 5217]
Their distance from each other/39#T U gAY & T [Option ID = 20865]

Clarity of their perceptions/3=T &Tzuraif T ¥T=aT [Option ID = 20866]

Their size /37T srhTZ [Option ID = 20867]

Their type/3I9=T Js1Z [Option ID = 20868]

A WN -

7) According to Berkeley when you do not perceive your table it

THA D AT IF AT AIAT AT KT TET @ TG § a7 T[Question ID = 5218]
exists as a material object/T# Wifa® a&q & =7 # fa=HATT g [Option ID = 20869]

exists in the mind of someone or other/fF=ft a7 & 7 & fa=ra7= & [Option ID = 20870]
exists in the mind of God/% & 7« # fa=r=T § [Option ID = 20871]

exists as an unconscious perception/Ta F=d 40T & &7 ¥ fa=@T & [Option ID = 20872]

AWN—\

8) According to Locke extension s

Qcollegeduniag



tw ® agar< fAeqryQuestion ID = 5219]

is a mode/T® YT (mode)  [Option ID = 20873]

is a primary quality/T# q&7 7 § [Option ID = 20874]

is a secondary quality/T# IfTor 707 & [Option ID = 20875]
impression/=T & [Option ID = 20876]

A W N -

9) Descartes’s ontological argument attempted to prove

FFTE (Descartes)  GATLAF (ATHIAIIINFT ) TF T THF FLT FT 7A7H F5IT TAT[QuUestion ID = 5220]

God’s idea from God’s existence/=a% & Afeded & Toa¥ FT Fa42om & [Option ID = 20877]

God’s existence from God’s idea/=*a¥ FT Faemeo & T & wfEaca # [Option ID = 20878]

idea of existence from God’s idea/=:=a% #¥ sra&mu & srf¥qea F¥ sr=emom ¥ [Option ID = 20879]
idea of God from idea of existence/=f¥aca T srarerom & £7a¥ £ s7a&m=om ¥ [Option ID = 20880]

AW N =

10) According to Hume causal relation

TIH B ATHTT FTH-HTIT TFEF=A[Question ID = 5221]

1. is a subjective association/ws =afxFaze ATZ=d g [Option ID = 20881]
2. objective relation/a=g{¥g = g [Option ID = 20882]

3. conceptual relation/HTaifarF &= g [Option ID = 20883]

4. logical relation/aTf= e & [Option ID = 20884]

11) The view that space is an infinite container is ascribed to

gg frgia i foreae s ssqarge @ ... F ETT 729 &[Question ID = 5222]
Leibniz/ferafaesr [Option ID = 20885]

Kant /=7 [Option ID = 20886]

Berkeley/a# [Option ID = 20887]

Newton/=2= [Option ID = 20888]

A wWw N =

12) Who is popularly known as a Milesian among the following:

frefata 9 f5a arEfoas 19§ 797 F1A7 §2[Question ID = 5223]
1. Thales/a<f= [Option ID = 20889]

2. Zeno/3=T [Option ID = 20890]

3. Democritus/THTATE=d [Option ID = 20891]

4. Parmenides/TTTHATE2H [Option ID = 20892]

13) Who said, ‘Man is the measure of all things’?

Frad w871 1%, “a7s7 a9t S0 T A79F §2”[Question ID = 5224]
Seneca/#+=T [Option ID = 20893]

Protagoras/Tewed [Option ID = 20894]

Aristotle/31%&] [Option ID = 20895]

Parmenides/aTeHATE =¥ [Option ID = 20896]

A W N -

14) Who used the word ‘Nous’ to elaborate his Philosophy

fraa oo gef &7 faearfea &0 & fore arsy ¢ o3 FT 970 fHA1?[Question ID = 5225]
Anaxagoras /A FHRIZE [Option ID = 20897]

Socrates/HF1d [Option ID = 20898]

Zeno/3HT [Option ID = 20899]

Anaximander/TfsfF#HzT [Option ID = 20900]

A w N =

15) With which Philosopher is the notion of ‘paradox’ associated

Ardrgsmara 1 g frw qreffAfE & ara gFF g2 8?2[Question ID = 5226]
. Thales/r<fer [Option ID = 20901]

Aristotle/3T¥F] [Option ID = 20902]

Cicero/# =T [Option ID = 20903]

Zeno/ ST [Option ID = 20904]

ALJN—\

16) Which philosopher does Kant credit for raising him from his dogmatic slumbers

o qreffas w7 o O st geafdar @ 91 & forw &7 fxa1{Question ID = 5227]
Bertrand Russell/a£= &= [Option ID = 20905]

David Hume/2fa= =& [Option ID = 20906]

Voltaire/@T==a¥ [Option ID = 20907]

Rousseau/&HT [Option ID = 20908]

AWN—\

17) Descartes considers that by relying on the senses

gcollegeduniag



IHTd famTewea & s gfewat ax anf¥ra g2, [Question ID = 5228]

AWN—\

18) Out of the following, who is a rationalist philosopher?

frefataa 8 &, gfgars srd ™+ F17 §2[Question ID = 5229]
1. David Hume/2fa= =% [Option ID = 20913]

2. Montaigne/#ies [Option ID = 20914]

3. Pierre Bayle/fo@¥ a1 [Option ID = 20915]

4. Leibniz/ferafazst [Option ID = 20916]

19) Among the following, who is considered to be a skeptic?

fawfafaa 9 @ %% aga7dt AT97 9147 §2[Question ID = 5230]
Pyrrho/fa<gt [Option ID = 20917]

Diogenes/ZTATSHIST [Option ID = 20918]

Archimedes/=f&f#<Tst [Option ID = 20919]

Protagorasa/STeRTIH [Option ID = 20920]

AW N -

20) Which of the following best describes Berkeley’s philosophical position?
A. There are no material objects but just ideas

B. Substance is that unknown in which the observable qualities are anchored
C. Substance cannot be real since they are mind dependent

D. Substance exists independently

Choose the correct answer from the options given below:

frafafaa # 9 F17 97 Fa7 67 A1 qref s Rafy 1978 q=gy7 q9i7 FLQTE?
A FTE YT aeq 7€t €, afwT e =g

B. waTd a7 FAATT g Fora® Aaaraw1q LU FT AT STAT ITAT §

C. vaTd greafas a8y g7 9F3 FH11% & a7 T fAsic §

D. oaTef Tad T T | AT &

1= frg g fasweai /4 | gt S HA ¢

[Question ID = 5231]
1. Aand B only/A 3fiT B F=<1

[Option ID = 20921]
2. Band C only/B ¥ C Fa1

[Option ID = 20922]
3. Aand C only/A 3fT C Fae

[Option ID = 20923]
4. Band D only/B 3% D #ae1

[Option ID = 20924]

21) Which of the following correctly represents Locke and Berkeley’s position
A. Locke and Berkeley accepted universals.

B. Locke and Berkeley discarded universals.

C. For Locke universals exist only in abstract concepts.

D. For Berkeley universals exist only in abstract concepts.

E. Berkeley discarded abstract concepts.

Choose the most appropriate answer from the option given below

e # @ Fr-8 FiF v gaa 71 Rafy w1 wfufafaeg sxarg
A. FiF AT IS 7 9T AT (Universal) w12 g

B. A% AT adha ¥ TE WA &7 <717 faar

C.HiF & fT AT wiw FIA ST ATITTTSH A AT §

D. &« & fT a1 WA F T« A T ATGTIOTSH | AI[I &

We can distinguish between dreaming and waking states/g¥ TaWTaEAT Td STRATAEAT § 4% F¥ T & [Option ID = 20909]
. We might distinguish between dreaming and waking states/ T g% FA9TGEAT Ud STRATEEAT # 92 ¥ 9Fd @ [Option ID = 20910]
. We cannot distinguish between dreaming and waking states/g" Fa9Ta®T Ud STRATEEAT ¥ 95 ¥ 78] 9 & [Option ID = 20911]
. We should distinguish between dreaming and waking states/g# FaqTaT Ud SIN[ATaT § 98 FH7AT 91127 [Option ID = 20912]

gcollegedunias



E. et 3 Jd ATgrIortat ®v a7 27w
19 frg g fasea & @ 98 ST ¢

[Question ID = 5232]
1. A, B & Conly/A, B 3w C &

[Option ID = 20925]
2. B, C & and E only/B, C ¥ E Fa=

[Option ID = 20926]
3. C&Eonly/C 3T E Faa

[Option ID = 20927]
4. D & E only/D 3 E Fae

[Option ID = 20928]

22) Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: Aristotle says that the aim of all actions is goodness
Reason R: Each action aims at the good

In the light of the above statements, choose the most appropriate answer from the options given below

S A FATRCATE : TH 5T FOFIT (A) AT FTTF (R) FRTAATE
ATHFAT (A) : FECFTFEAT & (6 G HTAT 7T o {97 IZT A=18 § HIA
T& (R) : TeAF f5AT HTSRIT AT &

UL FAFT ® AArF: A frwi g AFeat & @ gy SR ¢

[Question ID = 5233]
1. Both A and R are correct and R is the correct explanation of A /(A) 3% (R) 21 @&t 2 3fT (R), (A) F 72t =187 §

[Option ID = 20929]
2. Both A and R are correct but R is NOT the correct explanation of A/(A) 3 (R) T Tl & 977 (R), (A) FT @&t ==mEaT 981 8

[Option ID = 20930]
3. A‘is correct but R is not correct /(A) #&l § T=q (R) #&l 7&l &

[Option ID = 20931]
4. Ais not correct but R is correct/(A) Tgt A2l § W= (R) 5l &

[Option ID = 20932]

23) Given below are two statements
Statement I: Albert Camus thinks that life is absurd
Statement Il: Albert Camus thinks that we should not commit suicide

In light of the above statements, choose the correct answer from the options given below

= v s fagaed .

FIT- | : AFAE PAGHAA g (F SATAT A&

FIT - Il : TS RAT GIFA @ 1% A ACHAGAT TR FHIAT AT(RY
SYEE FIAT & AT § Aeiafaa fAaeal & § 9g S HA ¢

[Question ID = 5234]
1. Both Statement | and Statement Il are true/®a= | ¥ || ST 7LT &

[Option ID = 20933]
2. Both Statement | and Statement Il are false/®a | i< || 191 Taq &

[Option ID = 20934]
3. Statement | is true but Statement Il is false/®= | 77 g , foheq o || 7o |

[Option ID = 20935]
4. Statement | is false but Statement Il is true/®=¥ | & 7 g , foeq F9+ || H&5 2

[Option ID = 20936]

24) Match List | with List Il

List | List Il

A. Plato I. Immaterialism

B. Kant Il. Pre Established Harmony
C. Leibniz lll. Theory of Forms

D. Berkeley IV. Transcendental Idealism

Choose the correct answer from the options given below:

Qcollegedunia;



T -l Fr g -1l F gRTIT AT

gt -l gt -l

A. TR ECUEEEIG

B. F1Z Il. gF-eq7iq agTT
C. rzafaew . =9t %71 Rrgia

D. T&hd IV. gTea ST aresfare

= feg g fawedt & 4 9gy A< AT :

[Question ID = 5235]
1. A-IV,B-1I,C-1,D-1lI

[Option ID = 20937]
2. A-Il,B-IV,C-1lIl,D-1

[Option ID = 20938]
3. A-1L,B-1V,C-1I,D-I

[Option ID = 20939]
4. A-1,B-1I,C-IV.D-1I

[Option ID = 20940]

25) Match List | with List Il

List | List Il

A. Anaximander |. Being is One

B. Heraclitus Il. Know thyself

C. Parmenides

lll. The arche of all things is Apeiron

D. Socrates

IV. It is not possible to step into the same river twice

Choose the correct answer from the options given below:

T -1 FT gt -1 F gERT v

=T -l =T -l

A. safFgameeT ||l aRaT uF g

B. g Trfearew Il. g &7 SATfT,

C. qTAaATsEd (Il FY ST 71 graed gfii=a g

D. FFIIT IV. TF g 73 § Y IITHIH TEAT AT TRI &

19 frg oy faswear & @ gt sav T

[Question ID = 5236]
1. A-1,B-1I,C-1V,D-1

[Option ID = 20941]
2. A-1, B-1l,C-1l,D- IV

[Option ID = 20942]
3. A-IV,B-1,C-1l,D-1ll

[Option ID = 20943]
4. A-1IL,B-IV,C-1,D-1I

[Option ID = 20944]

26) The fallacy of attacking a person’s character to show that she is wrong is called ____

freY srfxe @ afex wxgaar ag feamd @ fog fs ag vaa & 9 & § #a7 F3ATAT §[Question ID = 5237]

1. Hasty generalization /eaf¥a @raT=fi=<or [Option ID = 20945]

2. False Cause /3r@a #1201 [Option ID = 20946]

3. Argumentum Ad Hominem /3R[#e® = gIff=# [Option ID = 20947]
4. Slippery Slope/fae T [Option ID = 20948]

27) “No one has shown that god does not exist. Therefore, God exists’

’. This displays which kind of fallacy

“fret 7 75 T fmrar O ST st aRawa 98 @ Tafag, SavwrafRaca § 7 ag 9 w12 1 gearwra w1 wefda sar

#[Question ID = 5238]

. Argumentum Ad Hominem /3R[#e® = grf¥w# [Option ID = 20949]
Fallacy of Ignorance /SI=TT<dT #T geaTaT® [Option ID = 20950]

. Strawman /=f|T9 [Option ID = 20951]

. Red Herring /3= 24T [Option ID = 20952]

A wnN =

gcollegeduniag



28) Petitio Principii is the name of which type of fallacy?

gfeer fIfrare FFa THRITHT STATATA FTATA ]

[Question ID = 5239]
1. Slippery Slope/ e zam
[Option ID = 20953]
2. Red Herring /¥= gfar
[Option ID = 20954]
3. Argumentum Ad Hominem /3R[den we gifes

[Option ID = 20955]
4. Circularity /S#®arT

[Option ID = 20956]
29) Logic deals with ____

Ts & @sfda @ ___ .[Question ID = 5240]
1. judgements/fufar [Option ID = 20957]

2. opinions/¥1d [Option ID = 20958]

3. inferences/sqHTT [Option ID = 20959]

4. beliefs/®T=gard [Option ID = 20960]

30) The relationship between premises and conclusion of an inductive argument is

TF ATHAATHE T AT TFT < fvawd & 1w g § ___ .[Question ID = 5241]
necessary/3ra9a= [Option ID = 20961]

certain/fAf2ra [Option ID = 20962]

uncertain/ff2ra [Option ID = 20963]

probable/#sTfad [Option ID = 20964]

AW N =

31) If two categorical propositions, having the same subject and predicate terms, cannot both be false, although they both

be true, they are regarded as ___

T TH FT I T fAEGT 9T I AT IR ATHT TH ATT AT 781 51 GH TA(T TF T T I GHQ 8, T F FIT HgATS §

-[Question ID = 5242]
contradictories/=T=TdT [Option ID = 20965]
contraries/fa ¥a [Option ID = 20966]
subcontraries /s [Option ID = 20967]
subalternates/3dTara [Option ID = 20968]

AN wN -

32)

The above diagram represents which of the following:

Sy fa fawfofaa & @ frasr wiafwfaes swar &:

[Question ID = 5243]
1. OnlySisP./#a7S, P&

[Option ID = 20969]
2. AlPareS./asfTP,S%

[Option ID = 20970]
3. NoSisP./#ES, PR &

[Option ID = 20971]
4. EverySisP./YI%S, P&

[Option ID = 20972]
33) Which of the following is a contradiction?

fwfafaa a8 @ w7 a1 os ATgTIT 872

[Question ID = 5244]
1. pD(pD-q)

gcollegeduniag



[Option ID = 20973]
2. pe(g>-q)

[Option ID = 20974]
3.pe(@=-q

[Option ID = 20975]
4. pv(p=aq)

[Option ID = 20976]
34) Which of the following is entailed by the statement (x ) ( Ax D Bx)?

e # | 79T (x ) (AXDOBx) THATHFT & ATEE €7@ AT 2

[Question ID = 5245]
1. (I x) (Ax « Bx)

[Option ID = 20977]
2. - (Ab e - Bb)

[Option ID = 20978]
3. Aa - Ba

[Option ID = 20979]
4. ~ (Aav Ba)

[Option ID = 20980]
35) An argument is a combination of sentence of which .

TH TF (69 T7FF HT G99 g[Question ID = 5246]

at least one expresses a proposition/®H I FH TF AT YAATH T =4<h FaT g [Option ID = 20981]

all express propositions /@ e A= FT =7k Fvar g [Option ID = 20982]

. at least one expresses a question/=H I FF TH aATFT YT I<h HLAT g [Option ID = 20983]

. at least one expresses a moral injunction /& & FH TF a7 AT (AU =9<F FaT g [Option ID = 20984]

A w N =

36) The subject-matter of Logic includes ___.

7% 3 fawg-aeg & arfas & Question ID = 5247]

1. making a list of all valid arguments /=¥ e Tt T AT F=T4T [Option ID = 20985]

2. making a list of all invalid arguments/®ft sTaer At #T =T a1 [Option ID = 20986]

3. Making a list of positive and negative emotions associated with the process of arguing/@ @ T =T THHAT & S[ET HHIHT ST THTLHE AT 6T
Tt F=T=T [Option ID = 20987]

4. making a list of the forms of validity and invalidity /3T siiT s AT F ST F1 AT a=797 [Option ID = 20988]

37) According to paradox of material implication, __.

FELINT ATTETT FT FATATHTT F ATATT, ___ .[Question ID = 5248]

1. A false proposition implies any proposition/T f&=aT o Fre ot FH= 1 TiqqTad F¢a1 g [Option ID = 20989]

2. A false proposition is implied by any proposition/T# f&r=ar o 3T ot o gy wfawrfed grar & [Option ID = 20990]
3. A true proposition implies any proposition/T® & FaF &I ot HAT %T TfaaTad Fa1 g [Option ID = 20991]

4. A true proposition implies its own negation/Te Heq FI ATT T F THTL FT TAqTad T g [Option ID = 20992]

38) In logic an individual variable is ___.

FFATE § TF 3736 - 9T ___ 8[Question ID = 5249]

name of an individual person or object/frft ==f<F =T &g FT 1 [Option ID = 20993]

name of a common property/T# HTHTT I[UTH FT 917 [Option ID = 20994]

an empty place marker to take in proper names/=af<F ATq &+ & foIT Ua =TT == [Option ID = 20995]

an empty place marker to take in common names/STT{a ATHT &1 & & forT Ue @T=(T @I [Option ID = 20996]

A W N -

39) Which of the following is entailed by the proposition P?

frafafaa d & st ar fawew P waw gy wivarfya grar 82
[Question ID = 5250]
1. ~HVH

[Option ID = 20997]
2. -H

[Option ID = 20998]
3.H.-H

[Option ID = 20999]
4. H

[Option ID = 21000] g collegedunia:



40) What will be the correct symbolisation of the sentence viz. If something gets misplaced in the house it should be

rectified. (Use symbols - x gets misplaced in the house : Mx, x should be rectified : Rx

T ITH FFIAT ZIATATE, A7 59 31F FHATATATATRY - T 19T FT AT TTF FITGIAT? (TATHT - ITH X TAT T

dTAT S, X FT 3TF FRAT FTAT ATTET)[Question ID = 5251]

(For all x) (Mx 2 Rx)/( @ft x & form ) (Mx 2 Rx) [Option ID = 21003]
( For all x) (Mx . Rx)/ (&sft x & f&rT ) (Mx . Rx) [Option ID = 21004]

A w N =

41) Validity applies to what?

Foar 3T 9T A9 T §2[Question ID = 5252]
. Sentence /aT#T [Option ID = 21005]

. Proposition/@aTs [Option ID = 21006]

. Arguments/Zf<F [Option ID = 21007]

. Explanation /=am=aT [Option ID = 21008]

A W N -

42) A deductive argument with a false conclusionis ____

TF TAq fvHs & 79 g UF sTHATHS q% ___ & [Question ID = 5253]

. Valid/Z#r [Option ID = 21009]

. Invalid/srrsr [Option ID = 21010]

. Sound/ZT [Option ID = 21011]

. Unsound/fReme (rr@ms=) [Option ID = 21012]

A wWw N -

43) pv qis false, when ___

pvqaeT §, T ___ .[Question ID = 5254]

p is false/p ¥e@ & [Option ID = 21013]

q is false/q #< & [Option ID = 21014]

both p and q are false/p 3 q =11 3/@<T g [Option ID = 21015]

p is true but q is false/p #ex § @ q s1¥rer g [Option ID = 21016]

A wnN =

44) ___ is an Indian text of logic

ATIATT THATH * 1 TEIF 2. [Question ID = 5255]
. Vakyapadiya /aTeaar= [Option ID = 21017]

. Tattvacintamani/a<af==arafor [Option ID = 21018]

. Artha-$astra /sr-amer [Option ID = 21019]

. Yoga-siitra/aRTE [Option ID = 21020]

A W N -

45) ___ were two great logicians of India.

___ ST & T HETH I ATt 9 [Question ID = 5256]
Bhartrhari and Panini/wdgf¥ siw arfort [Option ID = 21021]
Bhartrhari and Gautama/#ggf¥ & 7ita® [Option ID = 21022]
Gautama and Gangesa/TiTa® ¥ 79T [Option ID = 21023]
Panini and Gangesa/TTioTs ¥ 3rer [Option ID = 21024]

A w N =

46) What is a hypothetical imperative, according to Kant?

FTe  ALAT, TF IUTH qTa e s (T fewa gea<fe) #a1 §2[Question ID = 5257]

. A command of reason that depends on our desires/T# sT3eT ST gAY T=grstt u¥ 497 #7a1 g [Option ID = 21025]

. A command of reason that does not depend on our desires. /T ST ST gHTT 5T ¥ fAsi¥ 721 #war & [Option ID = 21026]
. A principle of action that one gives to oneself/T® FFifae FH ST Fa%-TaTH FT T&T9 F7ar 2 [Option ID = 21027]

. A principle of action that one gives to others/T#® &Zifa® FH ST TF-92TH T YT F2dT g [Option ID = 21028]

A WN =

47) Mill appeals to to explain the quality of pleasure

AMAT HT UAAT # T ATEIT HIA & forg Faar ... w7 w3 s 39 €. [Question ID = 5258]

. Competent judge/#&m® ST<7 [Option ID = 21029]
. Sanctions/wfd=er [Option ID = 21030]
. Emotion/<TegT [Option ID = 21031]
. Approval of fellow being/®f2=T #t =T [Option ID = 21032]

AWN—\

48) Thomas Hobbes view can be termed as

IIHT gTeq & [AATTHT FGT IAT TFHAT g[Question ID = 5259]
1. Psychological altruism/A=Ta=T{= TZra=Tiear [Option ID = 21033]

2. Psychological hedonism/®HTa=T{AF s orFdT [Option ID = 21034]
3. Emotivism/«{rgwar [Option ID = 21035]

(There exists at least one x )( Mx . Rx)/(ST&f %% & &7 U# x § ) ( Mx . Rx) [Option ID = 21001]
(There exists at least one x ) ( Mx 2 Rx)/ (STgf %% 7 %% T x & )( Mx 2 Rx) [Option ID = 21002]

gcollegeduniag



4. Psychological egoism /A= Ta=T{= 3ra1< [Option ID = 21036]

49) This philosopher has spoken extensively about the capability approach:

T ITATAF T auar gf¥Fror & a3 F fAEqre | 1T %71 :[Question ID = 5260]
J Rawls/ST Zf=a [Option ID = 21037]

J S Mill/sroer firer [Option ID = 21038]

M Nussbaum/T® THe# [Option ID = 21039]

| Kant /=TS iz [Option ID = 21040]

A w N =

50) “...the sole evidence it is possible to produce that anything is desirable, is that people actually do desire it”. This was
written by:

"... ST THATT qTET STATTET FIAT WS § 7% 7T AT TGI8, 95 & T /7 I78q9 § 97T =1 @ & A8 T & grer e
THT gT:[Question ID = 5261]

1. | Kant/#r iz [Option ID = 21041]

2. Aristotle/=r%+] [Option ID = 21042]

3. J'S Mill/& = f [Option ID = 21043]

4. Nietzsche/T<er [Option ID = 21044]

51) This philosopher distinguished between actions performed for the sake of duty and those which are in accordance with
duty

T IAfAT A ag Fd T Fda 3 e fFgara € s ag 19 S Fd=7 3 AATCE F1 AT A1 Question ID = 5262]
1. D. Hume/ZT =& [Option ID = 21045]

2. G E Moore/sft £ 97 [Option ID = 21046]

3. | Kant/=T %z [Option ID = 21047]

4. J Rawls/3t Tf= [Option ID = 21048]

52) Ethical Egoism claims that:

AT ArgwTeaT (FMEW ) FT 14T 8 F3h:[Question ID = 5263]

1. Values lead to greatest happiness of the greatest number of people./qedT & FTX0T Ha TS TEAT § ARN w1 Gae a7 goft Ferdt & [Option ID =
21049]

2. What makes something valuable for me is that | desire it./&¥ form 5T gt qegaTa g 98 zaforw g #9it% & St w187 #7ar g [Option ID = 21050]

3. Moral and evaluative language must be grounded in facts rather than feelings/afde siiT qeaiareTce ATT FT WTEATA F TS T 92 AT HET
=1few [Option ID = 21051]

4. Values are by nature subjective/qed STft® &7 ¥ =1<Fa<# grd g [Option ID = 21052]

53) Which of the following theories hold that end justifies the means:

fwfafaa a8 @ w7 a1 Rgia amaar § 0% ofcoma args 1 sfya frg 37 §:[Question ID = 5264]
Consequentialism/9fxuma=rs [Option ID = 21053]

Deontology/Fd =9Il (STA=I=TsiT ) [Option ID = 21054]

Naturalism /s faTs [Option ID = 21055]

Subjectivism/smreHaTe [Option ID = 21056]

AW N =

54) Which of the following philosophers formulated the felicific calculus:

fafafag & @ fra s 3 SffRfes Sagaa 1 sfyarfza a1 :[Question ID = 5265]
1. Jeremy Bentham/S#T 21/ [Option ID = 21057]

2. Aristotle/31¥¥] [Option ID = 21058]

3. Immanuel Kant/ZFgua Fid [Option ID = 21059]

4. Philippa Foot/fferar w [Option ID = 21060]

55) Which one of the followings is not mentioned in the context of Gita’s theory of Karma?

AT w6 f{gia s geadf # fAufafas & fraswr aofa agf §2[Question ID = 5266]
Adhisthan/=fergT [Option ID = 21061]

Karta/=at [Option ID = 21062]

Daiva/<= [Option ID = 21063]

Adhikaran/#fa=vor [Option ID = 21064]

A w N =

56) Which one of the following does not come under trivarga?

e & | Braw & siata #17 TET swar g?2[Question ID = 5267]
1. Dharma /4 [Option ID = 21065]

2. Artha/=r% [Option ID = 21066]

3. Kama /= [Option ID = 21067]

4. Moksha /#Ter [Option ID = 21068]

gcollegeduniag

57) In Jainism, the Influx of the karma particles into soul is called- s



RT ILFT R FH FUT FTACHT B HIX TITE FRATAT & -[Question ID = 5268]
1. Asrava /3mea [Option ID = 21069]

2. Nirjara/fasi¥ [Option ID = 21070]

3. Samvara/®#¥ [Option ID = 21071]

4. Triratna /f%a [Option ID = 21072]

58) Performing one’s duties without any selfish motive is called,

faaT forET Tard & FE T FTATAT FHIAT 1T ATAT 2[Question ID = 5269]
1. Karma phala/## %= [Option ID = 21073]

2. Nishkama karma /fa=Fmq & [Option ID = 21074]

3. Karma samskara/®% #&kZ [Option ID = 21075]

4. Naimittika karma/af&f<r % [Option ID = 21076]

59) Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: Ethics is a normative inquiry.

Reason R: Ethical claims tell us about what ought to be the case.

In the light of the above statements, choose the most appropriate answer from the options given below

I A FITRTTTE : TF T AFAFIT (A) AT FT T3 (R) FZTTAT R
Ffwsas (A) : *AfaFaT TF ATARATT §

T& (R) : AfaF I73 gH qa1d § T35 FA7 ZraA7 91y

ITLH FIAT d Aars A AHifFg faseat & @ gt I+ :

[Question ID = 5270]
1. Both A and R are correct and R is the correct explanation of A/(A) 3% (R) ZI+T H&T & 3T (R), (A) FT Tgr =ameaT 8

[Option ID = 21077]
2. Both A and R are correct but R is NOT the correct explanation of A/(A) 3 (R) 3T &=l & 931 (R), (A) FT @t ==meaT 981 &

[Option ID = 21078]
3. Adis correct but R is not correct/(A) @&t & 7+q (R) & TEI &

[Option ID = 21079]
4. Ais not correct but R is correct/(A) Tt 721 § 7= (R) Tl &

[Option ID = 21080]

60) Match List | with List I

List | List 11
A. The Metaphysics of Morals I. FNietzsche
B. Beyond Good and Evil Il. J Bentham
C. An Introduction to the Principles of Morals and Legislation| Ill. | Kant
D. Practical Ethics IV. IP Singer

Choose the correct answer from the options given below:

g -l FY gt -1 F gR T v

gt -l = -l

A. ATIHAT FT TTHTATAT (Metaphysic of Morals) . 9w frest
B. v ST AfAE & U1 Il. & S=d7
C. Afamar sh< faara & Rrgiar w1 afema I, sr€ e
D. =ATaETLE A faswar Iv. 97 f&are

19 frg oy fasweqt & @ aftsacgfg:

[Question ID = 5271]
1. A-1,B-1IV,C-1ll,D -1
[Option ID = 21081]

2. A-I,B-1I,C-1l,D-1IV
[Option ID = 21082]

3. A-lllbB-1,C-1l,D-1IV

[Option ID = 21083]
4. A-1L,B-11,C-1IV,D-I

Qcollegeduniag



[Option ID = 21084]

61) Which one of the following schools advocates two-fold bondage i.e., Bhavabandhana and Dravyabandhana?

M H § FITATIHAI-TFTL S G871 949 T3 ATIS G U 4G g7 FT TATC FLAT 8 ?[Question ID = 5272]

1. Nyaya/=m¥ [Option ID = 21085]

2. Yoga/=TT [Option ID = 21086]

3. Jaina/t= [Option ID = 21087]

4. Carvaka/=Tat® [Option ID = 21088]

62) Which of the following statements are associated with Gandhiji’s concept of truth? Choose the correct code from

below.

A. Truth is an ontological category.

B. Truth is an ethical category.

C. Truth is only a property of statement.

Select the correct answer from the codes given below: Codes:

frefafaa & @ F17 F1F97 TS T aeg 7 FAgEOT /@ YT A F afr ge v A

A. T TF GATHAT AT &

B. @ty UF A fas vt §

C. UTq FIA FIAT HT TH U &

= gy faweat & @ gt S HA ¢

[Question ID = 5273]
1. A, Band C /#ad A, B 3T C

[Option ID = 21089]
2. Aand B only/#a< A %7 B

[Option ID = 21090]
3. Band C only/#a= B 3fi C

[Option ID = 21091]
4. Aand Conly/Fa A #iT C

[Option ID = 21092]
63) According to the Buddhists, Svalaksana is

FYET F ATHATL ..o TIAFT g -[Question ID = 5274]

. Momentary only/#a= &1fors [Option ID = 21093]

. Real only/#== @7 [Option ID = 21094]

. Both momentary and real /&% 7= 5T =1 [Option ID = 21095]
. Eternal and real/s<Ta= w& &< [Option ID = 21096]

AN wN -

64) Sapta-anupapatti is found in-

qF-qqar &7 faacer fra sr=rd | frar &-[Question ID = 5275]
Prabhakara/s<11s< [Option ID = 21097]

Jaimini/SIfafs [Option ID = 21098]

Jayanta Bhatta/stad wg [Option ID = 21099]

Ramanuja/T™Tst [Option ID = 21100]

A W N -

65) According to Nyaya which Pramana cognizes absence?

FATALATC FIT AT AT HAATT FT ATT FLATAT §2[Question ID = 5276]
Pratyaksa/9c@&7 [Option ID = 21101]

Anumana/sgdT+ [Option ID = 21102]

Anupalabdhi/sra=fear [Option ID = 21103]

Sabda/ers= [Option ID = 21104]

A wN =

66) Sarhkara calls this world Mithya, which means..

AHT T AT FT (AT FET 7 fTHT 197 %...[Question ID = 5277]
False  /#=mda [Option ID = 21105]

Unreal/2r&d [Option ID = 21106]

Real /& [Option ID = 21107]

Illusion /g® [Option ID = 21108]

A W N -

67) Which one is not a Cittavrtti?

gcollegeduniag



i @t g 78T €2[Question ID = 5278]
Smrti /=gf3 [Option ID = 21109]

. learyaya/%‘ﬁ'q [Option ID = 21110]

. Vitarka/fara [Option ID = 21111]

. Pramana/9HT1or [Option ID = 21112]

AWN—\

68) Which one of the following is not a kosa as mentioned in Upanisads?

Sufawst & fao & fg wrowr &7 aviT 78 @2[Question ID = 5279]
. Manomaya /@=Ta [Option ID = 21113]

. Vijoanamaya/f3=s=== [Option ID = 21114]

. Jnanamaya /=T=HT [Option ID = 21115]

. Anandamaya/==&"= [Option ID = 21116]

AWN—\

69) Loksariigraha, Concept is found in-

TFE T, FAFTT IT4T FTAT | -[Question ID = 5280]
Gita /39T & [Option ID = 21117]

Buddhism /=T z¢i= # [Option ID = 21118]

Jainism /S 39t & [Option ID = 21119]

Carvaka/=mat®i # [Option ID = 21120]

AW N =

70) Given below are two statements: one is labeled as Assertion A and the other is labeled as Reason R
Assertion A: Samkhya, is a philosophical tradition
Reason R: It regards universe as consisting of two independent realities: consciousness and matter

In the light of the above statements, choose the most appropriate answer from the options given below

A A wua T awE @ uF w1 afrwaT (A) AT gE T TR (R) FETIAATE
afrsaT (A) : ared, U T s wWar &

& (R) : Fg ATaT & P srgric & <V ead 7 9974 §-1EW ud wgfa

STEE FAAT ® et / fowi forg fyweat 4 @ agr s :

[Question ID = 5281]
1. Both A and R are correct and R is the correct explanation of A/(A) 3T (R) ZHT @&l & 3% (R), (A) FT T =7meaT &

[Option ID = 21121]
2. Both A and R are correct but R is NOT the correct explanation of A./(A) =¥ (R) Z4T @2t & 7] (R), (A) T Tt =ATAT 751

[Option ID = 21122]
3. Ais correct but R is not correct./(A) W&t g T=q (R) Tl 7! &

[Option ID = 21123]
4. Ais not correct but R is correct/(A) #&l 72t g 7% (R) el &

[Option ID = 21124]
71) God exists, but he has not created the World - is the view of:

AT g, afwT ag st w7 fFratar a9 i 8- 8 7T 8:[Question ID = 5282]
. Vai$esika/aerftreht T [Option ID = 21125]

Carvaka/=TaT &T [Option ID = 21126]

Yoga /=TT &T [Option ID = 21127]

Nyaya/=m =T [Option ID = 21128]

AWN—\

72) In Jainism, Consciousness is ....quality of soul.

I ¢ & FIAT ACHT FT ... T & [Question ID = 5283]
. Instrumental /&TgATHF [Option ID = 21129]

. Essential/arf==m [Option ID = 21130]

. Accidental /srHfEga [Option ID = 21131]

. Additional/=zFTT [Option ID = 21132]

A W N -

73) Carvaka does not believe in the existence of Inference because of..

Frat® ATATT A a1 787 FIF & FTIW §...[Question ID = 5284]
Impossibility of Vyapti relation /zTf& & T #qTa«T [Option ID = 21133]
Uncertainty/srf=f2raar [Option ID = 21134]

Circularity/=r#=ar [Option ID = 21135]

Certainty/fAf%raar [Option ID = 21136]

AW N =

74) Vaisesikas believe in-

gcollegeduniag



4% ATTR F[Question ID = 5285]
7 Padarthas /¢ 9=t [Option ID = 21137]
8 padarthas/< waTH [Option ID = 21138]
9 padarthas /% =¥ [Option ID = 21139]
16 padarthas/ 2% &t [Option ID = 21140]

AW N =

75) Amongst the following which is considered to be the oldest Veda

frafafaa & @ ST 999 QAT 3T ATAT ITAT §[Question ID = 5286]
. Sama Veda/@mwas [Option ID = 21141]

. Yajur Veda/=s[a= [Option ID = 21142]

. Rg Veda /737 [Option ID = 21143]

. Atharva Veda/sr=r=s [Option ID = 21144]

A W N -

76) Vedas are also called as:

T F...... T HFT SATAT § .[Question ID = 5287]
1. Smrti/=gfF [Option ID = 21145]

2. Puranas/T¥Tvit [Option ID = 21146]

3. Sruti/#Af¥ [Option ID = 21147]

4. Itihas/zfagm™ [Option ID = 21148]

77) Which statement is true according to the philosophy of Gautam Buddha?

THIH & P AT F AT FTT T FIT TET 82[Question ID = 5288]

. Maya is root cause of all sufferings. /AT &1 3:@T T g FOT & [Option ID = 21149]

. Desire is the root cause of all sufferings. /z=gT @3t 3:@T &T g1 FM¥0r g [Option ID = 21150]

. Jiva is the root cause of all sufferings. /sfta &+t 3:@T &1 g« FXor g [Option ID = 21151]

. Unhealthy life styles are the root cause of all sufferings. /sEae Stram =t a7 3:@7 F7 g #1707 2 [Option ID = 21152]

A WN -

78) Who made the following statement- Yoga cittavrtti nirodhah

fraa rafafag aws faar - v Fgfy fAOa:[Question ID = 5289]
1. Patafjali/Tdsifer [Option ID = 21153]

2. Carvaka/=mai® [Option ID = 21154]

3. Kanada/=urre [Option ID = 21155]

4. Jaimini/Stfae [Option ID = 21156]

79) Which of the following is not a condition for the constitution of a sentence according to the Mimamsakas?

frafafaa # & Ftaar Feer fiatarat & aga BT amF7 # 9 @gra #7 ad 71 §:[Question ID = 5290]
1. Unity of purpose/32%¥ =T T=aT [Option ID = 21157]

2. Expectancy/#ri&T [Option ID = 21158]

3. Proximity/&ffer [Option ID = 21159]

4. Prescriptivity /srqema=4Ts [Option ID = 21160]

80) Which schools of Indian Philosophy gives emphasis on Pratityasamutpada (Doctrine of Dependent Origination).

AT qdT d FNT waAregagears @ty seufy fRrgia) Rrgta st dar €2 [Question ID = 5291]
1. Jainism/3I= & [Option ID = 21161]

2. Buddhism/=TZ & [Option ID = 21162]

3. Vedanta/Z=id [Option ID = 21163]

4. Samkhya/#=T [Option ID = 21164]

81) In Indian philosophy the word Pramana stands for

ST g9 & THTO s T 7 §[Question ID = 5292]
Believes on God/«raTe u% fawam #<aT g [Option ID = 21165]
Source of knowledge/=T T & [Option ID = 21166]

Object of knowledge /=T #T @=q [Option ID = 21167]

Resulting cognition /I q4fT g2 [Option ID = 21168]

A W N -

82) Which philosophical School explains the concept of many-sidedness and conditioned viewpoints with the Parable of the
blind men and an elephant, which addresses the manifold nature of truth?

FIT T T AF THA FABTIITE AT TATEIR FT ATGTTOT FT & TIAT AT TH FTAT P FET-T D IT TATATE, NI T B S AT

TIVTT T GAITUT HIAT & [Question ID = 5293]

. Vedanta/3aTa [Option ID = 21169]

. Carvaka/=mat® [Option ID = 21170]

. Jainism/3I= &1 [Option ID = 21171]

. Buddhism/@Z & [Option ID = 21172] Qco“egeduniag

A W N =



83) Vyapti is defined as the invariable concomitance relationship between:

=1y & = srriad s aqgear @9 3 €7 § gheariya =7 737 &:[Question ID = 5294]
. Major term and minor term/®TeT 3T w21 [Option ID = 21173]

. Minor term and middle term/w# 3T &g (ATfa Ha#r) [Option ID = 21174]

. Major term and middle term/®TeT ¥ ¥ (TR &=#r) [Option ID = 21175]

. Major term and Reason/®T&T T FT2 [Option ID = 21176]

AwN—i

84) Which system in Indian philosophy does not accept inference as a source of knowledge and has accepted only one
Pramana i.e., Perception.

AT AT F FTT AT AU ATT D ATT D TTH FIA T FT TATRIL AGT HLAT 8 AT FIA TF TH T FAT TAG F7 w61 /AT
2[Question ID = 5295]

Advaita Vedanta/sr&d =i [Option ID = 21177]

Sarkhya-yoga/aT&a-a1T [Option ID = 21178]

Carvaka/=Tat® [Option ID = 21179]

Nyaya/=T [Option ID = 21180]

A w N =

85) The following statement is made by whom “Brahman satya jagat mithya...”

afafReg $97 fFad g1 77 TAT §" TG 9F FI7 FHLAT..”[Question ID = 5296]
1. Gotama/¥Taw [Option ID = 21181]

2. Mahavira/®gr4i¥ [Option ID = 21182]

3. Sarhkaracarya/ei¥r=ma [Option ID = 21183]

4. Jaimini/SIfa=T [Option ID = 21184]

86) For enlightenment, Kant claims, nothing but freedom is required. What kind of freedom, Kant thinks, would bring
enlightenment?

FTUZ FTGT (enlightenment) F T 78 1T F3a € % Faw caaaar €1 A fra & Fie D AT T THTT HT eqad 7a7 7T

FFHT AMTI?[Question ID = 5297]

1. Freedom to make public use of reason in all matters. /=« faw=i o= g & Arasrfa® w=nT &t Fad=rar [Option ID = 21185]

2. Freedom to make public use of reason in all matters but restriction on making private use of reason. /&t o= ww g & wrastfaes w=wT fit Tad=ar
T AT qf & TH0 HT =g FE10 [Option D = 21186]

3. Freedom to make private use of reason in all matters but restriction on making public use of reason. /& =< @ faw=t o g5 & 7w it Fad=rar
TR ATESTAE A F AR U g €T [Option ID = 21187]

4. Freedom to make private use of reason in all matters. /& rfxrTd =0T § i F T 6T Fad=rar [Option ID = 21188]

87) Berlin grounds his defense of ‘negative liberty’ in the thesis of

FfST e grens vadar ® vq d Frg frgr=a 7 ara1T @3 E[Question ID = 5298]
. Self-rule/=eq-H=ma [Option ID = 21189]

. Rationality/=tf&=dT [Option ID = 21190]

. Value Pluralism  /9=7 sg=rar [Option ID = 21191]

. Universal Monism /ATEHTHE T [Option ID = 21192]

A w N -

88) The idea of ‘Original Position’ must be regarded as:

“ “mrias STufxr” &7 49T g9 TR GTAT 197 AT [Question ID = 5299]
Hypothetical and historical JafeeTTeRs U UfdgTees [Option ID = 21193]
Hypothetical and ahistorical  /afiacaaTens Ta srafagTiae [Option ID = 21194]
Non-hypothetical and historical /3rfiaeaTcash T Ufagre [Option ID = 21195]
Non-hypothetical and ahistorical  /erfieqerens Ue s=fagrfas [Option ID = 21196]

A WN -

89) .“The philosophy which will give modern mankind a new hope and a new faith must put a concrete content into the
concept of freedom”. Who is associated with these lines ?

“gg T T s FF ATATTAT FT ALY A0EAT TF T AT T FIAT § 39 e@a qav1 & =917 & 47 fywy Feq =9+t 1M 7%

o= frad grafeaa §2[Question ID = 5300]

1. M.N. Roy/T#.07.7T [Option ID = 21197]

2. Ravindranath Tagore/faw==TT 2T [Option ID = 21198]
3. Acharya Arvind/sm=T4 @efawg [Option ID = 21199]

4. Swami Vivekanand /=TT &= [Option ID = 21200]

90) .“Patriotism cannot be our final spiritual shelter. | will not buy glass for the price of diamonds and | will never allow
patriotism to triumph over humanity as long as | live.” This thought is associated with which one of the following thinkers?

“TTFATR AT & Foaw sweatiens sy 78t g7 a5ar § id 77 R 3 qog w2 adl aqgar e o7 a5 4 Sfifyg § 41 «F wgars
T ATTTAT 9 a7 wra &€ 39 g 7 78 = fFrag arafrad §2[Question ID = 5301]

1. M.N. Roy/T#.u=.717 [Option ID = 21201]
2. M.K. Gandhi/m® . et [Option ID = 21202] Qco“egeduniag

3. Ravindranath Tagore/¥f&=s T 2771¥ [Option ID = 21203] 4



4. Acharya Arvind /3= sr<fa=g [Option ID = 21204]
91) Which one of the following newspapers published “Hind Swaraj” for the first time?

FIT G GATATCIA § “fgea TqU” T 99 TIH THTIAT FHAT TI7T T1?2[Question ID = 5302]
1. The leader/= =¥ [Option ID = 21205]

2. Indian Opinion/z ==+ #rfafaa= [Option ID = 21206]

3. Amrita bazar Patrika/s/a aTsie Y@ [Option ID = 21207]

4. Bengal Gazette/s Tt T2 [Option ID = 21208]

92) Dworkin believed in:

TAITHT F ATAT:[Question ID = 5303]

1. Initial equality of resources is enough to establish justice. /=TT w1itd e & forw HaTert S TTEfSF TaTar &F 7977 g [Option ID = 21209]

2. Voluntary chosen inequalities are acceptable./Ff=g® &1 & T[T T SHATTATE w#14 & [Option ID = 21210]

3. There is no distinction between inequalities based on choices and circumstances/fareat siw af¥ffafaat a smenfa srEwmarst & #rs 93 98 g [Option
ID = 21211]

4. Disadvantage due to our choice is not injustice./gATT T FATE & FILIT 2 ATAT THATT A1 T21 g [Option ID = 21212]

93) According to John Locke, which of the following could be claimed by mixing our labour?

FIT ATH F AT, TAT 7 F7 A< fufciya & @ 5 g avar frar 91 9577 82[Question ID = 5304]
. Anything, without spoiling it./®T< ¥ =7, 3& fasmre fa=1 [Option ID = 21213]

. Anything that has been given by the government. /it %= Y #reahe g1 331 737 2 [Option ID = 21214]

. Anything, except land and plants. /STHI¥ ST WieT T @rese g 9 [Option ID = 21215]

. Everything without any condition. /far=T f&=ft ordf % @& = [Option ID = 21216]

A W N -

94) Which of the following correctly depicts Kant’s view?

faafafea 9 @ 17 w1  gfeFro w1 9t g7 @ afar ?2[Question ID = 5305]
Public can achieve enlightenment quickly through revolution/sr=dT Fifa & wreaw & STo=l W= & ¥%dT g [Option ID = 21217]
. Public can achieve enlightenment only slowly/S=aT #a iv-ei¥ Tz g1 FadT g [Option ID = 21218]
. We live in an enlightened state. /g% TF Yag s=aeT & ¥gd & [Option ID = 21219]
. With an enlightened leadership public attains complete enlightenment./TF Yag Tqcd & AT ST 07 AT ST FAT g [Option 1D = 21220]

AWN—\

95) According to Rabindranath Tagore which of the following is a trait not found in the traditional Indian society?

TEizaTy EMR F Aqare, Maffaa & @ #v7 a1 o qafys a7 gt & a8 97471 9T 82[Question ID = 5306]
1. Village self-government/3mH <&+ [Option ID = 21221]

2. A history of aggression/sTHTH=aT T =fagre [Option ID = 21222]

3. Aiming for spiritual ideals/smeaTieass sraert & forw @& [Option ID = 21223]

4. A history of continual social adjustment/fR¥a® |THTRSF HHTATSE ¥+ #7 g™ [Option ID = 21224]

96) According to Dworkin, “A distributional scheme that treats people as equals when it distributes resources among them
until no further transfer would leave them more equal in welfare” is called.......... .

TAHT & ATATL, "TF AT AVTAT ST AT D ST GATGAT T 4TI FI7 | I G797 TATH AAGTL FIAT & T TF 15 F18
AT TATATATT SAD FATI FT M T AFYF FATT FLA F TIIT T " ... FEI FTAT 8 [Question ID = 5307]

1. Equality of resources/H@Tert T THTAT [Option ID = 21225]

2. Equality of distribution/fa@=ur & T\T=aT [Option ID = 21226]

3. Equality of welfare/#®=aTor ¥ FqT=aT [Option ID = 21227]

4. Equality of method/fafer T @9T=aT [Option ID = 21228]

97) Hamid Dalwai has criticized the Indian Muslim intelligensia for:

grﬁra TS 7 Aty giRaw gfgst o 91 srar=a7 #$1:[Question ID = 5308]

Not being true to their religion/sT7+ & & T &g 78t g & o7 [Option ID = 21229]

Not adhering to the rules prescribed by the British government. /fafeer o grr FRatfa et &1 arem 721 #27 % & [Option ID = 21230]
Overanalyzing things. /srertar fagmomers g % forw [Option ID = 21231]

Not being critically introspective. /ST =TT ¥ T AT AL 751 Fe & forw [Option ID = 21232]

AWN—\

98) Consider the following statements:

A. It is freestanding.

B. It is comprehensive.

C. It is best suited for republican form of government.

Which of the above statement/s is/are true regarding Rawls’ political conception of justice? Choose the correct answer from
the option given below:

faeafarfaa st o =TT+l Q So}leﬁgﬂec?ur:ig;



A g wieERw g

B. I ATIF §

C. Ig ATHT F TUGTATHF ®T & T A9 ST §
Tied & TAAITT® =77 3 gvaH § STLF FIFT H F19 9 e § 719 R av fFaeai § @ gy S9C A ¢

[Question ID = 5309]
1. Only A/Fae A

[Option ID = 21233]
2. Both A and B/#a<1 AsfiT B

[Option ID = 21234]
3. Both A and C/#ae A 3T C

[Option ID = 21235]
4. AB, and C/A, B, 37 C

[Option ID = 21236]

99) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R

Assertion A: Our capacity to form and revise a conception of the good is intimately tied to our membership in a societal
culture

Reason R: The context of individual choice is the range of options passed down to us by our culture.

In light of the above statements, choose the most appropriate answer from the options given below

A= A FITROATE : TF FT AHFIT (A) ATTE FTTH (R) FFTAATE
ATHFIT (A) : EF FT TF ATLTIOT HT FATH AT G AIAT FIA F7 AT AHAT TH GTATIG e {q & AT GIEqAqT S G MAG

T& (R) : AFHAT 78T F7T dasf gardy aegfa grer gAre forg arfa faweat #it Soft §
ST FAT F arers A FAHifeg fArwedt @ § gt swe gy .

[Question ID = 5310]
1. Both A and R are correct and R is the correct explanation of A/(A) 3T (R) Z¥T @I & 3¥ (R), (A) FT Tt ==meaT &

[Option ID = 21237]
2. Both A and R are correct but R is NOT the correct explanation of A/(A) 3% (R) T #=&T & 97=q (R), (A) FT &t =TT 981 2

[Option ID = 21238]
3. Ais correct but R is not correct/(A) #2T & 9%=] (R) Hel 721 &

[Option ID = 21239]
4. A’is not correct but R is correct/(A) #&T A2t & 9%+ (R) TaT &

[Option ID = 21240]

100) Match List | with List Il

List | List Il

A. Will Kymlickal I. A Dalit Feminist Point of view

B. Sharmila Rege Il. Multiculturalism: Examining the politics of recognition
C. Charles Taylor lll. Ambedkarism: The theory of Dalit Liberation

D. Gail Omvedt IV. Multicultural Citizenship

Choose the correct answer from the options given below:

g -l FY gt - @ gR T A

et -l = -l

A. Bt e I 7 zforg afafee aide stw =g

B, oreffaryy | wedtweaciaen: TFATiHfAT 7 vifvfesy aiw
fopfiras

C. =Ted 2@ [l TFSTHiEm: T i atw aforg foraaT

D. i@ AAATT V. Aedtmeaa A i
= fyg g faweai & € ggv sAc AT :

[Question ID = 5311]
1. A-IV,B-1I,C-1,D-1l

[Option ID = 21241] Qcollegedunias
2. A-IV,B-1,C-1l,D-1ll IS e ot it




[Option ID = 21242]
3. A-IV,B-1Il,C-1l,D-1

[Option ID = 21243]
4. A-1,B-1I,C-1I,D-1IV

[Option ID = 21244]

gcollegedunias





